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B.Com. (Part-II)
Term End Examination, 2021

Paper - 1

Cost Account

Time : Three Hours] [Maximum Marks : 75
[Minimum Pass Marks : 25
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Note : ‘Answer all questions. All questions carry equal
marks.
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(2)

“Cost accounting is becoming more and more
relevent in the emerging economic scenario
in India.” Comment.
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(3)

With the help of the following particulars,
prepare Stores Ledger Account showing issue
of materials on the basis of ‘last in first out’ :

Receipt
1 March 300 units @ ¥ 2 per unit

14 March 250 units @ ¥ 3 per unit

20 March 560 units @ T 2.50 per unit
Issues

3 March 125 units

16 March 175 units

22 March 90 units

On 24 March, 10 _units“issued on 16 March
were returned by the department to the stores
and on 31 March a difference of 14 units
was found as per physical verification.

ZohTs / Unit-11
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What is meant by an ‘incentive plan’ in the

remuneration of labour ? Explain these plans
in brief.
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(4)

e go 9 & oW fae & faw wefi=
T R e .

T
(a) M ¥ H1 HI oA 90,000
(b) T WISl T gaE 6,000
(¢) AR TOAT =™ 4,000

(d) BRI @1 Sfaq gfqas 2000, FREEMA =2t
& IR W 10 Y |

(e) TG =T B 1 50% |

() foga wfe (e sudm - 9fd =i 10

IPE @2 T TR

(g) ToFaE. d@ - 8 wie & wfafeqn & fag
24 |

(h) SU¥FT W - 8 ®¢ o gfafed & faw
7201

() TR dareR Rl ASIQd - 8 Ee ok
yfdfed & fa@ ¥ 401

92 JDB X (11) (Continued)



(3)

From the following information work out the
machine hour rate of a Saw mill :

v
(a) Purchase of saw machine 90,000
(b) Railway freight and carriage 6,000
(c) Machine installation charges 4,000

(d) Life of machine - 10 years at 2000
working hours per year.

(e) Repair charges - 50% of Depreciation.

(f) Consumption of electric power - 10 units

per hour @ 2 ‘per unit.
(g) Lubricating“oil @ T 4 per day of 8 hours.

(h) Constumable stores @ T 20 per day 8

hours:

(i)~ Wages of machine operator @ ¥ 40 per
day of 8 hours.
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(6)

X Y
(%) (%)
Ta G 28,000 | 20,000
g TSIy 16,000 | 10,000
T = 3,000 | 2,000
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A factory produced 100 wunits each of

commodities X and Y. The cost of production

was :
X Y
() ()
Direct material 28,000 | 20,000
Direct wages 16,000 | 10,000
Direct expenses 3,000 | 2,000
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(7)
Overhead expenses are :
(/) Factory ¥ 13,000

(if) Office ¥ 7,360 if a profit of 25% on sales
1s to be realised, then what would be the
selling price of each article.
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Prepare.Ceontract Account from the following
information :

Materials ¥ 70,000, Machinery < 2,00,000,
Wages 50% of machinery, Sundry expenses 40%
of wages, work certified 75% of contract price,
Contract price 300% of the cost of machinery,
Work unertified 50% of Sundry expenses,
Charge 25% depreciation on machinery, cash
received is 3/4 of the work certified.
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(8)
T8 / Unit-IV
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(9)

A product is obtained through three
processes : viz A, B, C. The details are as

below :

Raw material
introduced units 2000

Purchase cost of raw
materials per unit (3) 25

Other materials
(direct) () 5,000 [ 3,000.| 2,000

Direct wages (3) 12,000 125000 [15,000
Direct expenses () 1,600 | 1,792 | 2,092

Normal loss
(% of input) 8% 5% 2%

Indirect expenses” of ¥ 12,000 shared in the
ratio of«5:4:3.

Prepare Process Accounts and determine the
cost“pet unit in each process.
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(10)

What is meant by ‘Operating Costing’ ? In
which industries is it used ? Prepare a
transport operating cost sheet with imaginary
figures and discuss the various items included
in it.
&1 / Unit-V

5. frafafea 9 d@ *ife :
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(d) ¥ 12,00,000 St okl o & i HHA
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From the followig find out :

(a) P/VRatio

(b)"B.E.P.

(¢),Profit on the sale of ¥ 10,00,000

(d) Margin of safety on the sale of
¥ 12,00,000

(e) Required sales to earn a profit of
¥ 2,00,000
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(11)
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State the reasons for disagreement between the
costing and financial results. Prepare an
imaginary reconciliation statement.
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